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PHYSICS

1. Anobject at rest starts moving with
uniform acceleration of Ims=2. Then
the distance travelled by it in 4
seconds

1) 6m
2) 8m
3)4m
4) 2m

2. Ratio of the distance to the
displacement

1) equaltoone

2) lessthanone

3) greaterthanone
4) equal to zero

3. InaTug-of-war, when the two team
pull it with equal effort, the rope
and the two teams remains
stationary then angle between two
teams is

1) 180°
2) 90°
3)60°
4) 0

4. While traveling in a bus, you lean
forward, when brakes are suddenly
applied is example for

1) Power

2) Work
3) Force
4) Inertia
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5. A body of mass 1 kg produces an
acceleration is 1ms—2, then the force

acting on the body is
1) 5N
2) 2N
3) 3N
4) 1N

6. Product of mass and velocity is
1) Work
2) Force
3)
4)

Momentum

Inertia

7. Jet plane and Rocket works on the

basis of
1) Newton’s First law of motion

2) Law of energy

3) Newton’s Second law of motion

4) Newton’s Third law of motion

8. Which of the following has greater

Inertia ?
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1) 5N

2) 2N
3) 3N
4) 1N

Ted DI BWIT rbsa@a%@

[e\D)

O

—_—

N
e

©
Tozen
ascé%

)
)
3)
)

N

WEFFeR® Y TN FOI

QTFLIT STTT

1) SRS BOTON JRTOITeC
QONIR0T

2) T30 JODIDOT

3) SRWT,I BOT0IN ATTEIC
QODTOT

4) SR, BOTON JoRTIC
QONIR0T

8. JRINTY BRJTH Ty, BWRITY,

mo@&gd ?



SAT(K-8)

9. A man stands with 50 kg rice on
his head, then work done by the
man is

1) 50J
2) 25J
3) Zero
4) 100J

10. Velocity of the body is double then
the Kinetic energy is increased

1) Twotimes
2) Threetimes
3) Onetime
4) Fourtimes

11. Mathematical form of Kinetic energy

1) —my*

12. According to “Law of Conservation
of Energy”

1) Energy can be created and
destroyed

2) Energy can be created but
cannot be destroyed

3) Energy can neither be created
nor be destroyed

4) Energy cannot be converted from
one form to another
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13.

14.

15.

CHEMISTRY

The atom that contains only two
neutrons is

1) deuterium

2) tritium
3) hydrogen
)

4) carbon

The atomic mass of ‘deuterium’
isotope of hydrogen is ‘2’. The
atomic mass of oxygen is 16. The
number of molecules of heavy
water (D,0) present in 2 grams of
heavy water is

1) 6.023x 10%

2) 6.023 x 10%

3) 3.0115x10%

4) 3.0115x 10%

Which one of the following
chemical equation indicates

decomposition reaction ?
1) CaCO3 — CaO + 002
2) 2AgNOS+CUA2Ag +Cu (NOB)2
3) MgCl +Na 2CO 5 —MgCO 5+2 NaCl
4) C+ 02 - CO2

13.

14.

15.
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1) 6.023x 10%

2) 6.023 x 10%

3) 3.0115x10%

4) 3.0115x 10%
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1) CaCO3 — CaO + 002
2) 2AgN03+ Cu —2Ag+Cu (N03)2
3) MgCl 2+NazCO 3= MgCOs+2 NaCl

4) C+0, - CO,
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16.

17.

o T ®

e

18.

19.

Sulphur dioxide is prepared in the
laboratory by the action of

1) Cuand HZSO4
2) Auand HZSO4
3) NaZS and HCI
4) Sand HZO

Match the following :
Baking Soda i. NaOH
Bleaching powder ii. NaHCO,

Common salt iii. CaOCl,
Caustic soda iv. NaCl

1) a=ii b=ii c=iv d=i
2) a=iii b=ii c=iv d=i
3)a=ii b=ii c=i d=iv
4) a b=iii c=iv d=ii

Sulphur dioxide reacts with water
to give
1) H SO
2) H SO
3) H
4) S

The volume occupied by
6.023 x 102 molecules of oxygen
gas atSTP is

1) 2.24 litre
2) 22.4 litre
3) 0.224 litre
4) 224 litre

16.

17.
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. TR DR i. NaOH
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ORR 0T iii. CaOCl,
TR R iv. NaCl
1)a=ii b=ii c=iv d=i
2) a=iii b=ii c=iv d=i
3)a=ii b=ii c=i d=iv
4)a=i b=ii c=iv d=ii
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20. Atoms of an element with different
no. of neutrons are
1) Isotopes
2) Isomers
3) Allotropes
)

4) Alloys

21. The valueof 1 a.m.uis
1) 1.66 x 10%* kg
2) 1.66 x 10" kg
3) 1.66x10%* g
4) 1.66x 10"**g

22. Which one of the following
chemical reaction indicates
Haber’s process for the
manufacture of ammonia ?

1) N2+ 3H2 +2NH3
2) NO+ 74 H, — NH_+2H.0
3) NH2—CO—NH2+NaOH—>NH3+

NazCO3

5
4) NO+ 3 H, - NH, +H,0

23. Inthe reaction
x KCIO; — y KCIO, + 20,
‘X’ ‘y’ and ‘2’ stands for

1) x=2 y=2 z=1
2) x=2 y=2 z=3
3) x=3 y=2 z=1
4) x=3 y=2 z=2

20. 20T TRV TBAR TTTTCLNE:
el ¥eS o3 edh SR tRRONTR),
TROQTITH T
1) FXDTARD
2) TXJDONN

3) WTTRIND

4) Q0T SRCTJN

21. 20T JTZ[3ER T2 (a.m.u) O
P, (3#3)
3 —24
1) 1.66 x 107** kg
2) 1.66 x 10"** kg
3) 1.66x 10 g
4) 1.66x 10"%*g

22. 33 TLTOE 0INT TITOOIIIT
DNCTTLR ‘VeWT’ & WIBRCIOIF
POTOTT amsﬁaﬁ& BRW™HITX ?

1) N+ 3H, —2NH,
7

2) NO+ 74 H, » NH_+2H.0

3) NH,—CO-NH_+NaOH—NH +

Ne12003

5
4) NO + 5 HzeNH3+H20

23. 33 YIOR TOTRODAT TCITLOTY
x KCIO, — y KCIO, + 20,
XY R 7 O, FIRRHIE ?

1) x=2 y=2 z=1
2) x=2 y=2 z=3
3) x=3 y=2 z=1
4) x=3 y=2 z=2
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BIOLOGY

24. The problem of constipation can be

reduced by taking more
1) Minerals
2) Carbohydrates
3) Roughage

4) Lipids

25. Minerals are formed due to
1) Chemical decomposition
2) Geological processes
3) Weathering of rocks

4) Chemical combination

26. Darwin’s theory failed to recognize
1) over production
2) struggle for existence

3) survival of the fittest but not their

arrival

4) natural selection

BeWIE
=)
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27. The correct matching of kingdom

and their organism s

A. Monera 1. Chlamydomonas

B. Protista 2. Yeast

C. Mycota 3. Bacteria

D. Plantae 4. Amoeba
B-3
B-2
B-4
C-3 D-2

4) A—-1 B-4

28. The preventive measure taken to
get protected from Aspergillosis is
to avoid

1) Drinking contaminated water
2) Being close to infected person
3) Unhygenic places

the nose with

4) Touching

contaminated hands

10
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29. The changes that takes place in the

light independent reaction of
photosynthesis is
1) Water is decomposed into
Hydrogen & Hydroxyl ion
2) Oxygen is given out
3) Light energy is converted into
chemical energy

4) Carbon dioxide is reduced to

starch

30. The primitive life appeared only in

water because
1) Water can expand on cooling
2) Water has a high surface tension

3) Water has a high resistance to

sudden changes in temperature

4) Water is universal solvent

31. The correct pair of symbiosis

among the following is
1) Man — Escherichia coli
2) Nepenthes —Insects
3) Fungi— Bacteria

4) Birds — Birds lice

11

29. @33 moFew® Fodhokg WEET
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32. The scientific name of Man is
“Homo sapiens”. Here sapiens
means

1) Erect posture

)
2) Wise

3) Large cranium
4) Binocular vision

33. The chemical required for cellular
activities is provided by

1)

2)

3)

4)

Plastids
Vacuole
Golgi complex

Centriole

34. The basic unit of classification is
1
2
3

) Family
) Genus
) Class
4) Species
35. The scientific name of Peepul tree
is
1) Citrus reticulata
2) Cucurbita pepo
3) Ficus religiosa
)

4) Mangifera indica

12
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HISTORY

36. Match the following and choose

the correct alternate.

A. Arthashastra 1. Ashwaghosha
B. Buddha Charita 2. Amoghavarsha
C. Mudra Rakshasa 3. Kalhana
D. Kavirajamarga 4. Vishakadatta
5. Kautilya
1) A-2, B-4, C-3, D-5
2) A-3, B-2, C-5, D-4
3) A-5, B-1, C-4, D-2
4) A-4, B-3, C-1, D-2

37. In the prehistoric age, the use of

fire and signs of ashes have been
obtained in

1) The caves of Kurnool
2) The caves of Ajantha
3) The caves of Ellora

4) The caves of Elephanta

38. The chronological order of the
‘Vedas’ is
1) Samaveda, Yajurveda,
Rigveda, Atharvanaveda
2) Rigveda, Atharvanaveda,
Samaveda, Yajurveda
3) Yajurveda, Samaveda,
Atharvanaveda, Rigveda
4) Rigveda, Samaveda,
Yajurveda, Atharvanaveda

13

36.

37.

38.

oo we?p

B3TOD

=3 é@ﬂwmn’ee’mez IPoDATRN,
RORBRom= ek,

@zﬁ?mg 1. e.-o%a:iracaﬁ
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TTRTRTH 3. TYE
BNTIETNE 4. DTLTT

5. @&@6
1) A-2, B-4, C-3, D-5
2) A-3, B-2, C-5 D-4
3)A-5, B-1, C-4, D-2
4 A-4, B-3, C-1, D-2
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39. Read the following sentences and 39. 33 3$NT 2 m%ﬁe}m& W0, TOO3RT

identify the correct alternate CohRy, TSR,

A. Mesopotamia is called as A. NeEsH 5;55&@@3303;@;534
‘Land between the rivers’ by ‘SORY TEAT TR oD
the Greeks 285

B. The Hwang Ho river of China B. w3 BmooRst 80 ZmEd

use to changed its course after
So8T BT, TR, WIOX

the floods in an unpredictable

- 8ot LT 33
1) Ais true, B is false 1) mé?s A %o, B 33)%
2) Both A and B are true 2) w5 AsEy B X0
3) Als false, B is true 3) @98 A 2%, B %0
4) Both A and B are false 4) =% A 02 B 2

40. In the two classes of Roman 40. BRI IZNETOT AT

society, the Plebians were common SRFRYY BeehIT
people and the Patricians were SRIEREONGS, BTPACHT
1) Artisans 1) BI3OBNENRL
2) Land-owners 2) LR-BI0DeFI
3) Soldiers 3) ﬁe@ﬁda
4) Smallland owners 4) 32 PR LHTBTPTITID

41. The principle which was taught by 41. SFERRT DTS BRCRT I

Vardhamana Mahaveera o o
1) ©&0%
1) Non - violence
2) &3,
2) Truth
) WBLBODE

)

3) Brahmacharya
4) Astheya 4) ©3ecd
14
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42. The Vardhana King who was
defeated by Pulakeshi Il was
1) Prabhakara Vardhana
2) Pushyabhuti
3) Harshavardhana
)

4) Rajyavardhana

43. The ‘Pataleshwara’ temple at
Talkad
contribution of

1) Chalukyas
2

is the architectural

) Kadambas
3) Shatavahanas
4) Gangas

44. ldentify the first Sanskrit Literature
‘Champu work’ and its writer in the
period of Rastrakutas

1) Nalachampu — Trivikrama
2) Adipurana—Pampa
3) Shantipurana —Ponna

4) Kavirahasya —Halayudha

45. The Gupta Empire was declined
dueto

1) Continual attacks of Mauryans
2)
3) Continual attacks of Huna’s
4)

Continual attacks of Kushans

Continual attacks of Vardhanas

15

42,

43.

44.

45.

NTTEIC PYOECHOW 0T TTVLRNRPOT
NPERT BRT

1) o338 JIES

2) R ge

3) TREIFES

4) TOBIHE

SOTRI ‘mm@c%ﬁ’ TCTTROOIN
TOTBY, 3SR JRT BRWRCIPNS.

1) m@aéédo

2) ITOWTD

3) ToBToTID
)

4) RONT

m%ﬁ.@&s FOT zoz&g m%osszs
TP w2 ‘aﬁo@a%é’ TONL BTWT
‘daﬁﬁmd’dmez TSR,

1) S$B0P) — ST

2) SOHTYTD — JOD

3) Zo0&Foerd — e,

4) BUTZA, — TBUVOING

DT WIPRE TS, T
1) :@déd QTOBT o
2) RNJ0RT JTOZT WP
3) ®™RET ATOST TP
4) [PEIT ATOST TP



SAT(K-8)

GEOGRAPHY AND ECONOMICS

46. Pacific Ocean : Asia :: Arctic Ocean:
1) Europe
2) Australia
3) North America

4) Africa

47. The circumference of the earth in
poles is 40,008 kms and in equator
itis 40,076 kms. This proves

1) The earth rotates on its own axis

2) The earth revolves in its own
orbit

3) The shape of the earth is Geoid

4) The earthis a blue planet

48. The correct group of latitudes in
the ascending order of their size
(circumference) is

1) Equator, Tropic of Cancer, Arctic
circle, North pole

2) North pole, Arctic circle, Tropic
of Cancer, Equator

3) Tropic of Cancer, Equator,
Tropic of Capricorn, Arctic circle

4) Tropic of Capricorn, Equator,
Tropic of Cancer, Antarctic circle

16
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46. JAT TNT : AT, o SFE3TE

)
N0

47. BRWCH TTLowWT sggzs I3

40,076 3. oc. NEH 0By PN

IS 40,008 3. ey QWD

%@c%@:b@ds
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4) 23000030 e RTEOTD
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49. If we move from equator towards
the poles the distance between the
two longitudes

1) gradually increase

2) does not change (remains the
same)

3) gradually decrease

4) increase and decrease

50. This is known as oceanic crust
1) SIAL

2) SIMA

3) NIFE

4) Magma

51. Ingroup ‘A’ list of countries and in
list ‘B’ the list of volcanoes related
are given. Identify the group that

matches:
A B
1. ltaly a. Mt. Fujiyama
2. Indonesia  b. Mt. Pielee
3. WestIndies c. Mt. Karkota

4. Japan d. Mt. Vesuvious
1)1-a 2-b 3-c 4-d
2)1-c 2-d 3-a 4-Db
3)1-b 2-a 3-d 4-c
4)1-d 2-c 3-b 4-a
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49. TILRWINOT T[T IRNR BRCTOD
QT BESTOBNE STIN 9O3TH)

1) DEPETN BT BREHIT

2) OJTORTC WT oW TFOBWD

WTVROY
3) ATOTTON BRI
4) TWITT T 3RIOIPNITT

50. /T TNOCEF FTOONT XTI
NOTP sdoﬁg%d.
1) 2O3Re®
2) ﬂém
3)
4) 008

51. A Ryod Besnsoe o B Biohd

)

WON ONTICSNSTY, BRWICNG.

pfolo¥clelnsly rOOTRY, TSR,
A B

1. o a. JIoezE mszaosma
2. aomwcms b. ZRoeE wede

3. 37, vOReT® €. SIPow® FFRCS

4. BT d. SPoerF IRelonEE
1)1-a 2-b 3-c 4-d
2)1-c 2-d 3-a 4-b
3)1-b 2-a 3-d 4-c
4)1-d 2-c 3-b 4-a
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52. Identify these marked areas in the

map.

1) a)Cape b) Gulf c) Bay
2) a)Bay b) Cape c) Gulf
3) a)Gulf b) Bay «c¢) Cape
4) a)Cape b) Bay c) Gulf

53. The triangular plains formed at the

river mouths are
1) Estuary
2) Valleys
3) Tributaries

4) Deltas

18

52. 5%053{2 rpelenkENontnt agdwmfﬁoel
o3,

1) a) $R33 b) 000

c) 3rQ

2) a) 3RQ  b) RR&T c) a000
3) a) 00 b) 3 ) HRET
4) a) RRAT b) 3 c) 000

53. SRk IFTTRTW, WO R
BOWCHROTRT TR
1) [ ned
2) 3edIned
3) NTION
4) D[N0 RN
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54. Earth gets divided into two

hemispheres by
1) Greenwich Meridian, Tropic of
Capricorn, Equator
2) Equator, Greenwich Meridian
and 180° longitude
3) Tropic of Cancer, Tropic of
Capricorn and Equator

4) Equator, International Date Line
and Arctic circle

55. Equator passes over to the North
of this continent

1) Africa
2)
3)
4)

Asia
Europe
Australia

56. The father of Modern Economics
is

1)

2)

3)

4)

Prof. Marshal
Prof. Adam Smith
Prof. J.B. Say
Prof. J.K. Mehta

57. India has bought some machineries
to its industries from German
industries itis

1) Export

2) Import

3)

4)

Entrepot
Wholesale

19
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1) NEFFRE Besw03, BT FOTOE
R DB, BRGPBT [T
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2028 180° Beazwo3

3) 3FFLWT FOTOS [T, WTT
ROTOS B3 W) AVLIT =T

4) BXEPRT [, @OSGUO%\J)@OSD
OF Bedld DD SFEWT I

54.

55. 83 oW emgdé DTLPOWT :é)g

TR RRCTHTT. i
1) 8%

2) &
3)
4)

oSmci@ew
e:we@oja

56. OPTTET WTDT
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. BTO AT

B.2.8

2.4,

57. TSR =%, %m@@ﬁ@ﬁ JTOR)
CHOZATRY, WPFICH FMOENRYOT
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POLITICAL SCIENCE, SOCIOLOGY &

BUSINESS STUDIES

58.

59.

60.

Identify the Greek philosopher who
discussed the nature and functions
of State and Govt. for the first time

1) Plato

2) Socrates

3) Alexandar

4) Aristotle

People can get information from the
Government bodies by filling an
application through this ‘Act’

1) RTE

2) RTI

3) SAKALA

4) KTPP
Choose the correct sequence to
indicate the following statements
as True (T) or False (F).

A. The people living in India under
the rule of British were termed
as ‘subjects’

B. ‘CitizenshipAct’was enacted by
the Parliament of India in 1955.

C. You borned in India and the
citizenship which you acquired
is ‘Citizenship by Naturalization’

D. Fundamental duties are
incorporated in our Constitution
in 1976 through 42nd amendment

1) TTFF
2) FFTT
3 FTTF
4) TTFT
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58.

59.

60.

4) 0TI

TINRVT

uaﬁmwn%c’o 9235032
Wew

pifef - rloRATof~ S-Sy o1
:mao.%o:bmel QONTINTT JEC0TI
@wﬁswm‘% 33 TOOWT WTWNAT.

1) RTE (s50°.88.3.)
2) RTI (&50°.68.%0.)

3) SAKALA (Z5o0)
4) KTPP (3:83.2.%.)

33 NS Jewdned =O(T) wzewe
3’% (F) @0 oxgmiaew
BeerRObR, 8ol =RA.

A. Q3TT SVIODY RTBTY TG

uadmel ‘TENS’
DOTN %8o$>e7arb§z€.

. (33T 1955 3Y ‘T3 Tend’

0R 3TUROWIN.

. PO03RY RIS AR JRATLS

P03, “Fwes FTY.

) sme Dongosm 19763 423¢

SWIRODY  HROBRS
53?5671@;5:4 BeORSING.
1) TTFF

2) FFTT
3) FTTF
4H TTFT
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SAT(K-8)

61. As per the Second Amendment of 61.
the PR Act of 2000, every Gram
Panchayat member must have

. SRoNTUe.

1) Ration Card 1) BRIT 3ees
2) ‘PAN’ Card 2) TOT° TTE
3) Toilet 3) FHeROeR

4) ‘Aadhar Card 4) ST wEE

62. The correct Chronological order of 62.

BTRE TJFodhR TowoRAT B
BENT sRFNER, TN w@ecRmen

TBORBROTDZ wo&a&

a o3F e.-oz:@;ﬁ@ocﬁ VT
Se0doh TRTEIING T3

b. wﬁacdam@%o&::nez
L OTWO0T)T.

C. RTINS TOLCVN TN T

the election process is

a. Nomination of the candidates

b. Withdrawal of Nomination
papers

c. Scrutiny of Nomination

d. Schedule of the election will be 5 :;5@:@ wi@izﬁd
i i : o 38RenRN0
z:;:]ll::::i:nby the Election wzsm oo, X6, st
Snbnd TJru.
1) a,b,c,d 1) a,b,c d
2)d,c,b,a 2) d,c, b, a
3) d,a,cb 3) d,a,cb
4) a,d, b, c 4) a,d, b, c

63. Name the Sociologist who worked

hard at making sociology a science

63.

zmumgaq &m@ssm‘iﬁ TTEN
=

SPAT BXRETEL
=

1) Herbert Spencer 1) wFws AJ0°
2) Emile Durkheim 2) N0 BDERTF
3) Auguste Comte 3) 8Nz’ T
4) Max Weber 4) BRF 52T
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64. The processof electing the ‘Mayor’
and ‘Deputy Mayor’ is
1) Electing by the people through
election
2) Electing by the Governor
3) Electing by the Chief Minister
4) Electing by the Corporators

65. The emergence of communities
and villages took place during this
stage

1) Agricultural stage
2) Handicrafts stage
3) Barter system stage
4) Pastoral stage

66. The mark which is printed on
agricultural products to certify
their quality is

1) 1SI

2) ISO
3) AGMARK
)

4) HALLMARK

67. The reason to open consumer
co-operative societies and Janatha
bazaars by the Government to
supply essential commodities to
the people is

1) To avoid adulteration

2) To avoid black marketing

)
3) To avoid artificial scarcity
4) To follow Business Ethics

22

64.

65.

66.

67.

SOTOTPT T LWTRTOTOTITI,

ol TR T

1) ZJTO TOTEHOD WopOT SO,
BPETIT.

2) COBIPOTY SO, [PWTT.

3) [N 0L, WRETVT.

4) TOI0D BTBIL SO,
BP0,

e DTURT B2 TWOITQ MRFPEd
T TINTOPN TYBROTD).

1) Semod ®O3

2) DIOVINFNE TO3

3) [A) VTN TOZ
4) TRE3 TOFVEIFODN HOI

HETOD YOIFNE 1L S9CHED

WRYNG eS8 z&%oﬁ?»ez

THRRTTIT.

1) 20.20%°.80.

2) R0V.QF°.%.

3) sN°RTE

4) TOSFRPTE

ITHRT MEION N TWNETY

WTNTLY ITTO TOoPNeH, &I

WIRTLATEY, TRLILL TN T

1) 30308030, IEMLDR)T

2) YTOTONY FTANY  T[Io00ES
SRR

3) ©TT ORI WD TIT WLIOW
BTRLLD

4) TOFTPTTYT [RET TTENE,
WRIOT VS WTVFORELD
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68. A partner neither contribute capital

nor take active participation in

transactions of the firm is called
1) Sleeping partner
2) Nominal partner
3) Minor partner

4) Active partner

69. The District called as ‘The Cradle
of Co-operative Movement’ in
Karnataka
1) Mysore
2) Gadag
3) Mangalore

4) Dharwad

70. The Multinational Companies such
as Tatas and Birlas are the origin
of

1) India
2) UK
3) US.A

4) Japan
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68. wocsmeéwﬁooz TRBWRNY  ToNw
TRONT  [eENEY
PNSLDHIHNY. VoI TRLOMOTTRY,
&t 3TO30TIT.

ST TOCOMOTT

%)

69. ‘IXTO ToFnY é@%@o’ NOT?

ST B wgoh, FeiTB.
1) SRR

2) nan

3) BooRTRDD

4) Zo0wor

70. &R 533_39 QERE AOW w&:m%coﬁa
>

FOTAING ST
1) QO&RS™
2) odw.3.

3) CIW.F.R.

4) RTJ°
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71.

72.

73.

74.

MATHEMATICS

abc is a 3 — digit number. cba is
another 3 —digit number obtained
by reversing the digits of abc. Then
(abc — cba) is always divisible by

1) 333

2) 111

3) 9

4) 66

Inamagic square of 3 x 3 constructed
using all odd numbers from1to 17,
the central number and the magic
sum are respectively

1) 7,21

2) 9,27
3) 11,21
4) 13,26

The smallest number by which 6000
should be divided to get a perfect
square number is

1) 15
2) 9
3) 6
4) 3

A square piece of land has an area
1764 m2. The length of wire required

to fence the complete land is
1) 42m
2) 84m
3) 126 m
4) 168 m

24

71.

72.

73.

74.

neds

abc w0t 3- ©oinY :10936. abc
% e.-oo%ﬁeg?s:ez LOTHR1oTN wiwen
T H3R0W 50‘935 cba. 3n
(abc — cha) oo ceenon
soa%obaow N3

1) 333

2) 111

3) 9

4) 66

1 aocs 170 TSNS Qo W%
e?R'D NTABREN T3T 3)(35
mom 25%53@5 00T B 03323

533: SO ms Gdamﬁ

JROE J_AE ﬁoaﬁcﬁaaﬁ%1 JROHeN

6000 &, amnieser 30 Hosh
1) 15

2) 9

) 6
)

A~ W

200 WPTTTTYTOT  HRWOD
$eZPO 1764 e ¥T. JRLIFRN
B3 BRWCH 1T Wed T WewT
S030H W

1) 420¢.
2) 84:%e.
3) 126.0¢.
4) 168 Qoe.



SAT(K-8)

75.

76.

77.

78.

Identify the rational numbers which
are their own reciprocals

1) 0, 1

2)1,-1

3) 2

4) 4

A seller bought some chocolates
by paying rupee 1 for 6 chocolates.
The number of chocolates he must
sell for rupee 1 to gain a profit of
20%is

1) 8

2) 6

)
) 5
)

A~ W

Minu spends 40% of her personal
money and hasX 12 left. Money she
had before spending is

1) 20
2) %28
3) T48
4) ¥ 88

Hari bought a mobile phone for

X 2,600. The VAT for this item is
4%. The price of the mobile phone
before VAT was added is

1) 2,700
2) 32,604
3) 2,504
4) 2,500
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75.

76.

77.

78.

@63 SonETYN 9Te Nogimfso
20T mnoz% ~09371eéa

1) 0, 1

2) 1 —1

3) 2,—

4) 4

mm&mdm%m WOTH TRTROLA
6 m&ra@cés@ﬁeémez EROR SOWD.
VST 20% T, ma;asmez Tdohen
WOTH THRTROBR [ITHES
RWRRICTT WRIRBCLEIF NS 7309323
1) 8

2) 6

)
) 5
)

A~ W

0T SHYR 40% TT, TeoImy, FeF
FRRT 80T RSO I 12 e,
ﬁaa;a a‘ndomdﬁé W200WT N
OTPOT T

1) 320

2) T28
3) T 48
4) ¥ 88
0 I 2,600 3, womy SRBe*
mcmoz S0T. facsg 533306536‘;3?3
R 4%. P[RS 30R0H,
ﬁc@z’o@d% R0OWSToN WHT 3B
1) 2,700

2) T2,604
3) 2,504
4) 32,500
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79. The mean height of 15 students in
aclass is 1.4 m and the mean height
of remaining 12 students is 1.2 m.
The mean height of all the students

in the class is
1) 2.6m
2) 1.44m
3) 1.3m
4) 0.2m

The breadth of a rectangle is 8 cm
less than its length. If its perimeter

is 60 cm, the area of the rectangle is
1) 302cm?
2) 209 cm?
3) 196 cm”
4) 121 cm?

81. Two consecutive numbers are such

that two-fifths of the smaller

number exceeds two-ninths of the
larger number by 4. The two
numbers are

1) 35,37
2) 33,35
3) 25,27
4) 23,25
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woth 3oNSCRYS 15 é)msc;rmf
HTeTO 2T 1.4 e Y even 12
é)mz@?m% ATeT0 QT 1.2 e,
STRSCDYT D DTHENE BTVKO
DT

79.

1) 2.6 &0e.

2) 1.445%0¢.

3) 1.30e.
)

4) 0.2e.

80. 2,00 BOHIT WNOF) WWT wcga&os
8 Bo.ve. 3R VTW. WTT BT

60 Fo.we. ©W3, $HIT FeSFO
1) 302 F0.50e.2
2) 209 %0.a0e¢.?
3) 196 F0.50e.?
)

4) 121 30.50¢.2

81. g Tosioh STTRe WFSTy, IR

:109323033 ATBI¢ zgozp‘gé&os 4
émuhc’owoé’ RTW> TFIITONS
ﬁo&%ﬁ@d. ¢ T zos%m?o

1) 35,37
2) 33,35
3) 25,27
4) 23,25



SAT(K-8)
82. Three numbers are in the ratio

3 : 4 : 5 and their sum is 96. The
three numbers are

1) 24,32, 40

2) 22,34,40

3) 21,28, 47

4) 26, 34, 36

a-1 a-3
83. If [5) - (X) then the value of
y

84. If (2°x2*)+2"=2x, then the
value of ‘X’ is

1) 16

2) —16
3) 4
4) -4

85. Five cubes each of side 5 cm are
placed adjacent to each other. The
surface area of the resulting cube is

1) 255 cm?
2) 555cm?
3) 550 cm?
4) 225 cm?
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82. TR '50&3571953 3:4:5¢3C
ORTRITROR Ty YN LI 96

SN, & TRT> Bo3NR
1) 24, 32, 40
2) 22,34, 40
3) 21,28, 47
4) 26,34, 36

a-3
83. [ _(XJ oEd % ® B
Yy

w N =

5
4
3
2

)
)
)
)

N

(2°x2%)+2" = 2x s ¥R 33
16

84.

W N =

)
)
) 4
) —4

SN

85. 5 Fo.owe. m&aa@% 0T wwr{eéabol

2008 TERY 2.0TTOZ VOISRNG.
FOSTIT Hedd 3§ SR

1) 255%0.c0¢.2

2) 555%0.50¢.°

3) 550%0.c0¢.°
)

4) 225%0.a0e.2
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86.

87.

88.

The dimensions of a class room are
10 m, 6.4 m and 5 m. The number
of students, the class room can
accommodate if the space (air)
required for each student is 1.6 m3
is
1
2
3

4

) 200
) 320
) 326
) 256

If the lateral surface area of a cube
is 400 cm?, the total surface area
of the same cube is

1) 400 cm?
2) 600 cm?
3) 700 cm?
4) 1000 cm?

In the adjoining figure the value of

ZSTR is

70°
50°
120°
38°
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87.
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WOW> STNS FATROD wWISNAYS
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T3 ImPFR 1.6 et wT, Y
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1) 200
2) 320
3) 326
4) 256

WO FTIX mgf Heed 35 QRYLEDE
400 30.c0e2, 3538 wide TR msgi
&hedd 3§ SREEE

1) 400 F0.Q0¢%,
2) 600 F0.0¢2.
3) 70070.50¢°.
4) 1000%0.50¢62,

QY DR uIRY LSTRE wed

1) 70°

2) 50°
3) 120°

4) 38°
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89. In triangle ABC, when ZA =90°, 89. g ABC on®, ZA =90° &won
the hypotenuse is SWTT BT
1) AB 1) AB
2) BC 2) BC
3) CA 3) CA
4) None of these 4) 03PRTR VY

90. ABCD is a rhombus. If ZA=70°,
then the measure of /CDB is

90. ABCD om> =[wegse. ZA=70°

&STC LCDBO® @3

D C D c
70° g
A 1 " 70 4
1) 55° 1) 55°
2) 70° 2) 70°
3) 150° 3) 150°
4) 180° 4) 180°
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